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Run 5631 mpswise, accO: All

Enilries: 153060

Mean: T8¥25 +/- 0.0139

Sid Dwery: 5.9445 4 D.0094
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Run 5631, mpswise, acc0: Beam ON, Laser ON

Enitries: 1008208

Mean: 135.2319 /- 00026

Sid Dey: D39S - 00079
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Run 5631 mpswise, acc(: Beam OFF
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Run 5631, mpswise, acc0: Beam ON, Laser OFF
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Run 5631 mpswise, BCM: All

Enilries: 153060

Mean: 142.0494 +/- 0.0733

Sid Dev: 31,4476 o+~ 0L0G1E
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Run 5631, mpswise, BCM: Beam ON, Laser ON

Enitries: 1008208

Mean: 1495459 4/~ 0.0023

Sid Devy: 07222 - 00076
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Run 5631 mpswise, BCM: Beam OFF

Enlries: 6395

Mean: 000007 +/- (L0004

Sid Drev: 0.0300 +- 0.0003
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Run 5631, mpswise, BCM: Beam ON, Laser OFF

Eniries: 71210

Mean: 1495589 +/- 0.0

Sid Dev: 0LA259 - 00022
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Run 5631 mpswise, lasPow: All
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cavPowerCalibrated

Run 5631, mpswise, lasPow: Beam ON, Laser ON
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Enitries: 1000828

Mean: 2274.5008 /- 03136

Sid Devy: 5956896 +- 02217
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Run 5631 mpswise, lasPow: Beam OFF
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Run 5631, mpswise, lasPow: Beam ON, Laser OFF

Eniries: 71210

Mear: 3. 7254 +/- 00208

Sid Dev: 76740 - 0.0203
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Run 5631 mpswise, bpmAx: All
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Run 5631, mpswise, bpmAx: Beam ON, Laser ON
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Run 5631 mpswise, bpmAx: Beam OFF

Enilries: 63495

Mean: -0.4287 «/- U001 &

Sbd Dew: 012684 «- 00071
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Run 5631, mpswise, bpmAx: Beam ON, Laser OFF

Eniries: 71210

Mean: -0.1080 </ - 0UDODD

Sid Dev: 00052 - 0.0000
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Run 5631 mpswise, bpmAy: All
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Run 5631, mpswise, bpmAy: Beam ON, Laser ON
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Run 5631 mpswise, bpmAy: Beam OFF

Eniries: 6395

Mear: 0U0E3IZ 4~ 0.00

Sid Dev: 01746 +- 0.0015

Run 5631, mpswise, bpmAy: Beam ON, Laser OFF
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Mean: 0U66T2 +/- 0.0001

Sid Dey: 00237 «- 0.0001
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Run 5631 mpswise, bpmBx: All
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Enilries: 153060

Mear: 0C324T 4~ 0.000E

Sid Dev: 02438 - 0.0004
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Run 5631, mpswise, bpmBx: Beam ON, Laser ON

Enitries: 1000828

Mean: 02780 + - 00000

Sbd Drey: 00048 4~ 0.0000
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Run 5631 mpswise, bpmBx: Beam OFF

Eniries: 6395

Meari: 15052 +/- 0.0038

Sid Dev: 03196 - 0.0027
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Run 5631, mpswise, bpmBx: Beam ON, Laser OFF

Eniries: 71210

Mear: 022781 +/- 00000

Sid Dev: 00048 - 0.0000
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Run 5631 mpswise, bpmBy: All

Enilries: 153060

Mean: 0C3ETT 4~ 00005

Sid Dev: 0.2174 - 0.0004

Run 5631, mpswise, bpmBy: Beam ON, Laser ON

Enitries: 1000828

Mean: 040E8T /- 0.0007

Sbd Drey: 00222 4~ 0.0000

I L L
2 0.34 0.36 0.38 0.4

042 044 048 048 0.5

1600

1400

1200

1000

800

600

400

200

3500

3000

2500

2000

1500

1000

500

Run 5631 mpswise, bpmBy: Beam OFF

Eniries: 6395
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Run 5631, mpswise, bpmBy: Beam ON, Laser OFF

Entries: 71210

Mean: 04095 +/- 0.0001

Sid Dey: 00232 +- 0.0001
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Run 5631 mpswise, beam ON, laser ON
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Run 5631 mpswise, beam OFF, laser ON
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Run 5631 mpswise, beam ON, laser OFF
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Run 5631 mpswise, beam OFF, laser OFF
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BCM

Run 5631 mpswise, beam ON, laser ON Run 5631 mpswise, beam ON, laser OFF
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Run 5631 mpswise, beam OFF, laser ON Run 5631 mpswise, beam OFF, laser OFF
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Cav Power

Cav Power

Run 5631 mpswise, beam ON, laser ON Run 5631 mpswise, beam ON, laser OFF
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Run 5631 mpswise, beam OFF, laser ON Run 5631 mpswise, beam OFF, laser OFF
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BPM Ax

Run 5631 mpswise, beam ON, laser ON Run 5631 mpswise, beam ON, laser OFF
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Run 5631 mpswise, beam OFF, laser ON Run 5631 mpswise, beam OFF, laser OFF
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Run 5631 mpswise, beam ON, laser ON
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Run 5631 mpswise, beam OFF, laser ON
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Run 5631 mpswise, beam ON, laser OFF
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Run 5631 mpswise, beam OFF, laser OFF

50 100 150 200 250 300 350 400

x10"



EFM Bx

2.5

1.5

0.5

Run 5631 mpswise, beam ON, laser ON
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Run 5631 mpswise, beam ON, laser OFF
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Run 5631 mpswise, beam OFF, laser ON Run 5631 mpswise, beam OFF, laser OFF
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Run 5631 mpswise, beam ON, laser ON
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Run 5631 mpswise, beam OFF, laser ON
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Run 5631 mpswise, beam ON, laser OFF
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Run 5631 mpswise, beam OFF, laser OFF

:_II N AT AR AN SR A ST T ST A A A AR A
80 100 150 200 250 300 350 400
mpsCoda



